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The particles are accelerated to — P e R

6 GeV within the synchrotron using ¢

E fields directed tangent to the

circular orbits. In order to get the

electrons circulating

counter-clockwise, is E directed

clockwise or counter-clockwise?
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Herbenr, the ever-inquisitive student, places the north pole

of a bar magnet above the center of a current-carrying loop. Ch " CO‘\ (pP')' Q 52 ‘\'f m,

What happens to the loop? (ignore gravity)
a) nothing
c) moves down
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f) rotates to an upright position N
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Stable versus Unstable Equilibrium

If I tap Point A from below, the circuit loop will T B C}\ “ CO“QF,. Qa S3.|\-lal
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a) go back to its original position T I
b) rotate 90 T I T A
c) rotate 180 T
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